

Outbound Demurrage/Detention Tariff

(Effective from JULY 10th, 2017, ETD, or from date specified by region which shall be prevail.)

- > NINGBO/LIANYUNGANG/YANTAI/WEIHAI
- > <u>SHANGHAI</u>
- > XIAMEN/QUANZHOU
- > <u>DALIAN</u>
- > QINGDAO/WEIFANG/SHIDAO/RIZHAO
- > <u>TIANJIN</u>
- > FANGCHENG
- Pearl River Delta
- > <u>SHEKOU/NANSHA</u>
- > <u>JAPAN</u>
- > <u>KOREA</u>
- HONGKONG
- > <u>TAIWAN</u>
- > PHILIPPINES
- > <u>THAILAND</u>
- > <u>VIETNAM</u>
- > <u>CAMBODIA</u>
- > INDONESIA
- > MALAYSIA
- > <u>SINGAPORE</u>
- > <u>MYANMAR</u>
- > <u>RUSSIA</u>
- > <u>KOLKATA</u>

- > **VISAKHAPATNAM**
- > <u>CHENNAI</u>
- > <u>MUNDRA</u>
- > <u>NHAVA SHEVA</u>

NINGBO

Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry / HC Container
Free time	7 calend	lar days
1 st 10days	CNY 35/day	CNY 70/day
2 ND 20days	CNY 70/day	CNY 140/day
Thereafter	CNY 140/day	CNY 280/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	5 calend	lar days
1 st 6days	CNY 140/day	CNY 280/day
2 ND 10days	CNY 245/day	CNY 490/day
Thereafter	CNY 490/day	CNY 980/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1 st 8days	CNY 56/day	CNY 112/day
2 ND 25days	CNY 105/day	CNY 210/day
Thereafter	CNY 210/day	CNY 420/day

WEIHAI

Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry / HC Container
Free time	10 calen	dar days
1 st 10days	CNY 35/day	CNY 70/day
2 ND 20days	CNY 70/day	CNY 140/day
Thereafter	CNY 140/day	CNY 280/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	8 calend	dar days
1 st 6days	CNY 140/day	CNY 280/day
2 ND 10days	CNY 245/day	CNY 490/day
Thereafter	CNY 490/day	CNY 980/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	8 calen	dar days
1 st 8days	CNY 56/day	CNY 112/day
2 ND 25days	CNY 105/day	CNY 210/day
Thereafter	CNY 210/day	CNY 420/day

LIANYUNGANG

Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry / HC Container
Free time	10 calen	dar days
1 st 10days	CNY 50/day	CNY 100/day
2 ND 20days	CNY 100/day	CNY 200/day
Thereafter	CNY 150/day	CNY 300/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	8calenc	lar days
1 st 6days	CNY 140/day	CNY 280/day
2 ND 10days	CNY 245/day	CNY 490/day
Thereafter	CNY 490/day	CNY 980/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	8 calen	dar days
1 st 8days	CNY 80/day	CNY 160/day
2 ND 25days	CNY 120/day	CNY 240/day
Thereafter	CNY 210/day	CNY 420/day

YANTAI

Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry / HC Container
Free time	10 calen	dar days
1 st 10days	CNY 35/day	CNY 70/day
2 ND 20days	CNY 70/day	CNY 140/day
Thereafter	CNY 140/day	CNY 280/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	8 calend	lar days
1 st 6days	CNY 140/day	CNY 280/day
2 ND 10days	CNY 245/day	CNY 490/day
Thereafter	CNY 490/day	CNY 980/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	8 calen	dar days
1 st 8days	CNY 56/day	CNY 112/day
2 ND 25days	CNY 105/day	CNY 210/day
Thereafter	CNY 210/day	CNY 420/day

SHANGHAI



Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry Container
Free time	7 calenc	lar days
8 th -17 th Day	CNY 60/day	CNY 120/day
18 th -37 th Day	CNY 120/day	CNY 240/day
Thereafter	CNY 240/day	CNY 480/day

Detention	40'HC	
Free time	7 calendar days	
8 th -15 th Day	CNY 145/day	
16 th -40 th Day	CNY 289/day	
Thereafter	CNY 580/day	

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	4 calend	lar days
5 th -10 th Day	CNY 206/day	CNY 410/day
11 th -20 th Day	CNY 359/day	CNY 719/day
Thereafter	CNY 719/day	CNY 1436/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
8 th -15 th Day	CNY 82/day	CNY 164/day
16 th -40 th Day	CNY 155/day	CNY 307/day
Thereafter	CNY 307/day	CNY 616/day

XIAMEN



Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry Container
Free time	10 calen	dar days
1 st 10days	CNY 42/day	CNY 84/day
2 ND 20days	CNY 84/day	CNY 168/day
Thereafter	CNY 168/day	CNY 336/day

Detention	40'HC
Free time	7 calendar days
1 st 8 days	CNY 126/day
2 ND 25 days	CNY 210/day
Thereafter	CNY 420/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	6 calend	lar days
1 st 6days	CNY 168/day	CNY 336/day
2 ND 10days	CNY 294/day	CNY 588/day
Thereafter	CNY 588/day	CNY 1176/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1 st 8days	CNY 67.2/day	CNY 134.4/day
2 ND 25days	CNY 126/day	CNY 252/day
Thereafter	CNY 252/day	CNY 504/day

QUANZHOU



Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry Container
Free time	10 calen	dar days
1 st 10days	CNY 42/day	CNY 84/day
2 ND 20days	CNY 84/day	CNY 168/day
Thereafter	CNY 168/day	CNY 336/day

Detention	40'HC
Free time	10 calendar days
1 st 8 days	CNY 126/day
2 ND 25 days	CNY 210/day
Thereafter	CNY 420/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	6 calend	lar days
1 st 6days	CNY 168/day	CNY 336/day
2 ND 10days	CNY 294/day	CNY 588/day
Thereafter	CNY 588/day	CNY 1176/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1 st 8days	CNY 67.2/day	CNY 134.4/day
2 ND 25days	CNY 126/day	CNY 252/day
Thereafter	CNY 252/day	CNY 504/day

DALIAN



Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry /HC Container
Free time	10 calen	dar days
1 st 10days	CNY 42/day	CNY 84/day
2 ND 20days	CNY 84/day	CNY 168/day
Thereafter	CNY 168/day	CNY 336/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	7 calend	dar days
1 st 6days	CNY 168/day	CNY 336/day
2 ND 10days	CNY 294/day	CNY 588/day
Thereafter	CNY 588/day	CNY 1176/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1 st 8days	CNY 67/day	CNY 134/day
2 ND 25days	CNY 126/day	CNY 252/day
Thereafter	CNY 252/day	CNY 504/day

QINGDAO/WEIFANG/SHIDAO/RIZHAO

(EFFECTIVE DATE: JUN 1, 2024)



Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry Container
Free time	10 calen	dar days
1 st 10days	CNY 60/day	CNY 120/day
2 ND 20days	CNY 120/day	CNY 240/day
Thereafter	CNY 240/day	CNY 480/day

Detention	40'HC	45'HC
Free time	10 calen	dar days
1 st 10 days	CNY 130/day	CNY150/day
2 ND 20 days	CNY 260/day	CNY300/day
Thereafter	CNY 520/day	CNY600/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	4 calend	dar days
1 st 6days	CNY 180/day	CNY 360/day
2 ND 10days	CNY 330/day	CNY 660/day
Thereafter	CNY 660/day	CNY 1320/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1 st 8days	CNY 90/day	CNY 180/day
2 ND 25days	CNY 180/day	CNY 360/day
Thereafter	CNY 360/day	CNY 720/day

TIANJIN



Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry /HC Container
Free time	10 calen	dar days
1 st 10days	CNY 60/day	CNY 120/day
2 ND 20days	CNY 120/day	CNY 240/day
Thereafter	CNY 240/day	CNY 480/day

Detention	20' Ref Container	40' Ref Container
Free time	4 calend	lar days
1 st 6days	CNY 170/day	CNY 340/day
2 ND 10days	CNY 300/day	CNY 600/day
Thereafter	CNY 700/day	CNY 1350/day

Detention	20' Tank Container	40' Tank Container
Free time	4 calend	lar days
1 st 6days	CNY 170/day	CNY 340/day
2 ND 10days	CNY 300/day	CNY 600/day
Thereafter	CNY 600/day	CNY 1200/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1 st 8days	CNY 90/day	CNY 180/day
2 ND 25days	CNY 180/day	CNY 360/day
Thereafter	CNY 360/day	CNY 720/day

FANGCHENG / QINZHOU/BEIHAI



ATD TIME 2019.6.1

Demurrage: collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention	20' Dry Container	40' Dry / HC Container
Free time	10 calen	dar days
1st - 10th Day	CNY150/DAY	CNY300/DAY
11th afterward	CNY200/DAY	CNY400/DAY

Detention	20' Ref/TK Container	40' Ref/TK Container
Free time	4 calendar days	
1st - 10th Day	CNY300/DAY CNY500/DAY	
11th afterward	CNY400/DAY	CNY700/DAY

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calendar days	
1st - 10th Day	CNY300/DAY CNY500/DAY	
11th afterward	CNY400/DAY	CNY700/DAY

Pearl River Delta

DETENTION

DETENTION	20' DRY CONTAINER	40' DRY CONTAINER
FREE TIME	10 CALENI	DAR DAYS
1st - 10th Day	USD10/DAY	USD20/DAY
11th-29th Day	USD20/DAY	USD40/DAY
30th DAY and above	USD80/DAY	USD160/DAY

DETENTION	20' REF/TANK CONTAINER	40' REF/TANK CONTAINER
FREE TIME	4 CALENDAR DAYS	
1st- 6th Day	USD20/DAY	USD40/DAY
7th -16th Day	USD35/DAY	USD70/DAY
17th - 29 Day	USD70/DAY	USD140/DAY
30th DAY and above	USD140/DAY	USD280/DAY

DETENTION	20' OT/FR CONTAINER	40' OT/FR CONTAINER
FREE TIME	7 CALENE	DAR DAYS
1st - 8th Day	USD15/DAY	USD30/DAY
9th - 29th Day	USD30/DAY	USD60/DAY
30th DAY and above	USD90/DAY	USD180/DAY

SHEKOU/NANSHA



Detention	20' Dry Container	40' Dry / HC Container
Free time	7 calendar days	
1st - 10th Day	CNY100/DAY CNY200/DAY	
11th afterward	CNY150/DAY	CNY300/DAY

Detention	20' Ref/TK Container	40' Ref/TK Container
Free time	5 calendar days	
1st - 6th Day	CNY200/DAY	CNY300/DAY
7th- 16th DAY	CNY400/DAY	CNY600/DAY
17th afterward	CNY600/DAY	CNY1000/DAY

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1st - 8th Day	CNY200/DAY	CNY300/DAY
9th- 17th DAY	CNY300/DAY	CNY500/DAY
18th afterward	CNY400/DAY	CNY600/DAY

JAPAN



Demurrage -- Free time is controlled by the terminal.

Detention -- Detention charge should be counted from the day of picking container (picking date included) to the day before Free Time.

Dry / HC / Hanger Container Outbound Cargo	Detention
1 st – 10 th Day	Free of charge 10 Calendar days before CY Cut
	(Including CY Cut)
11 th -15 th Day	JPY1,200/20'/Day
	JPY2,400/40'/Day
After 16 th Day	JPY2,400/20'/Day
	JPY4,800/40'/Day

Reefer / Open Top / Flat Rack Container Outbound Cargo	Detention
1st – 5 rd Day	Free of charge 5 Calendar days before CY Cut
	(Including CY Cut)
6 th - 9 th Day	JPY4,000/20'/Day
	JPY8,000/40'/Day
After 10 th Day	JPY12,000/20'/Day
	JPY24,000/40'/Day





Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

20' Dry Container	40' Dry Container
Free of Charge	Free of Charge
KRW7500/Day	KRW12000/Day
	Free of Charge

Demurrage	20' Reefer Container	40' Reefer Container
1 st – 5 th Day	Free of Charge	Free of Charge
Thereafter	KRW45000/Day	KRW65000/Day

Detention	20' Dry Container	40' Dry Container
1 st – 7 th Day	Free of Charge	Free of Charge
8 th - 17 th Day	USD3.00/Day	USD5.00/Day
Thereater	USD4.00/Day	USD6.00/Day

Detention	20' Reefer Container	40' Reefer Container
1 st – 5 th Day	Free of Charge	Free of Charge
Thereafter	USD25.00/Day	USD50.00/Day

HONG KONG



Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Demurrage	20' Dry Container 40' Dry Container	
Free time	7 calendar days	
Thereafter	HKD\$150 /day HKD\$300 /day	

Demurrage	20' Reefer Container 40' Reefer Container	
Free time	4 calendar days	
Thereafter	HKD\$600 /day	HKD\$800 /day

Demurrage	20'DG Container 40' DG Container		
Free time	4 calendar days		
Thereafter	HKD\$300 /day	HKD\$600 /day	

Demurrage	20' OT/FR Container	40' OT/FR Container
Free time	3 calendar days	
Thereafter(In-Gauge)	HKD\$150 /day HKD\$300 /day	
Thereafter(Out-Gauge)	HKD\$600 /day	HKD\$900 /day

Detention	20' Dry Container 40' Dry Container	
Free time	10 calendar days	
Thereafter	HKD200/day	HKD400/day

Detention	20' Reefer Container	40' Reefer Container
Free time	5 calendar days	
Thereafter	HKD500/day	HKD1000/day

Detention	20' OT/FR Container 40' OT/FR Container		
Free time	3 calendar days		
Thereafter	HKD\$200 /day	HKD\$400 /day	

TAIWAN



Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Detention -- Free time begins from the day of picking container (picking date included). Detention days should be counted from the next day of free time ending date to the day of full container in CY (full in CY date included).

> Outbound Cargo

Dry Container	Demurrage	Reefer Container	Demurrage
1 st – 7 th Day	Free of Charge Including Sat/Sun/Public Holiday	1 st - 3 rd Day	Free of Charge Including Sat/Sun/Public Holiday
8 th – 10 th Day	NT\$ 400.00/20'/Day NT\$ 800.00/40'/Day	4 th - 6 th Day	NT\$ 800.00/20'/Day NT\$ 1,600.00/40'/Day
11 th – 13 th Day	NT\$ 800.00/20'/Day NT\$ 1,600.00/40'/Day	7 th – 9 th Day	NT\$ 1,600.00/20'/Day NT\$ 3,200.00/40'/Day
After 14 th Day	NT\$ 1,200.00/20'/Day NT\$ 2,400.00/40'/Day	After 9 th Day	NT\$ 2,400.00/20'/Day NT\$ 4,800.00/40'/Day

Dry Container	Detention	Reefer Container	Detention
1 st – 7 th Day	Free of Charge	1 st – 3 rd Day	Free of Charge
	Including		Including
	Sat/Sun/Public Holiday		Sat/Sun/Public Holiday
8 th – 10 th Day	NT\$300/20'/Day	4 th - 7 th Day	NT\$900/20'/Day
-	NT\$600/40'/Day	-	NT\$900/40'/Day
After 10 th Day	NT\$600/20'/Day	After 7 th Day	NT\$2,700/20'/Day
	NT\$1,200/40'/Day		NT\$2,700/40'/Day

Philippines



Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Demurrage	20' Dry Container 40' Dry Container	
Free time	7 calendar days	
8-30 days	USD20/day	USD40/day
Thereafter	USD30/day	USD60/day

Demurrage	20' Ref Container	40' Ref Container
Free time	5 calend	lar days
6-15 days	USD40/day	USD80/day
Thereafter	USD80/day	USD120/day

Demurrage	20' OT/FR Container	40' OT/FR Container
Free time	7 calend	lar days
1 st 10days	USD40/day	USD80/day
Thereafter	USD80/day	USD120/day

Detention	20' Dry Container	40' Dry Container
Free time	7 calenc	lar days
8-15 days	USD10/day	USD20/day
Thereafter	USD20/day	USD40/day

Detention	20' Reefer Container	40' Reefer Container
Free time	5 calend	dar days
6-10 days	USD45/day	USD90/day
Thereafter	USD90/day	USD130/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calend	dar days
1 st 10days	USD30/day	USD60/day
Thereafter	USD50/day	USD100/day

THAILAND



Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Demurrage	20' Dry Container	40' Dry Container
Free time	7 calend	lar days
13 days	Baht 450/day	Baht 900/day
Thereafter	Baht 900/day	Baht 1800/day

Demurrage	20' OT / FR/RF	40' OT / FR/RF
Free time	5 calend	lar days
13 days	Baht 1200/day	Baht 2400/day
Thereafter	Baht 1600/day	Baht 3200/day

Detention	20' Dry Container	40' Dry Container
Free time	7 calenc	lar days
13 days	Baht 450/day	Baht 900/day
Thereafter	Baht 900/day	Baht 1800/day

Detention	20' OT / FR/RF	40' OT / FR/RF
Free time	5 calend	lar days
13 days	Baht 1200/day	Baht 2400/day
Thereafter	Baht 1600/day	Baht 3200/day

VIETNAM (HAIPHONG & DANANG & CHULAÍ & QUY NHON) From 01 NOV 2021 (base on ETD) (VAT included)

Detention	20' Dry/DG Container	40' Dry/DG Container
Free time	7 calend	lar days
15 days	VND300000 /day	VND600000 /day
Thereafter	VND500000 /day	VND1000000 /day

Detention	20' Reefer Container	40' Reefer Container
Free time	7 calenc	lar days
15 days	VND750000 /day	VND1500000 /day
Thereafter	VND1050000 /day	VND2100000 /day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calend	lar days
15 days	VND500000 /day	VND1000000 /day
Thereafter	VND800000 /day	VND1600000 /day



Ho Chi Minh

Effective from June, 17th 2024 (Proforma Sailing date)

Detention	20' Dry Container	40' Dry Container
Free time	7 calen	dar days
Thereafter 8th - 13rd	VND 200,000 /day	VND 400,000 /day
14th onwards	VND 500,000 /day	VND 1,000,000 /day

Detention	20' Reefer Container	40' Reefer Container
Free time	7 calend	dar days
Thereafter 8th - 13rd	VND 500,000 /day	VND 1,000,000 /day
14th onwards	VND 600,000/DAY	VND 1,200,000

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calend	dar days
Thereafter 8th - 13rd	VND 400,000 /day	VND 800,000 /day
14th onwards	VND 600,000/day	VND 1,200,000/day



Cambodia

Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Demurrage	20' Dry Container	40' Dry Container
Free time	7 calend	lar days
8—14 days	USD10/day	USD20/day
15—21 days	USD20/day	USD40/day
Thereafter	USD30/day	USD60/day

Demurrage	20'RF/DG/OT/ FR /TK Container	40' RF/HR/DG/OT/FR /TK Container
Free time	5 calend	dar days
6—8 days	USD20/day	USD40/day
9—11 days	USD40/day	USD80/day
Thereafter	USD60/day	USD120/day

Detention	20' Dry Container	40' Dry Container
Free time	7 calenc	lar days
8—14 days	USD10/day	USD20/day
15—21 days	USD20/day	USD40/day
Thereafter	USD30/day	USD60/day

Detention	20'RF/DG/OT/ FR /TK Container	40' RF/HR/DG/OT/FR /TK Container
Free time	5 calendar days	
6—8 days	USD20/day	USD40/day
9—11 days	USD40/day	USD80/day
Thereafter	USD60/day	USD120/day

INDONESIA



Storage 🗲

Collected by terminal directly from the shipper. The tariff should apply terminal's published tariff.

Detention →

Detention	20' Dry Container /DG	40' Dry / HC Container/DG
Free time	7 calen	dar days
1 st – 7 th Day	USD15/day	USD30/day
8 th - 12 th Day	USD25/day	USD40/day
13 th - 17 th Day	USD35/day	USD50/day
Thereafter	USD50/day	USD90/day

Detention	20' Reefer Container	40' Reefer Container
Free time	5 calend	lar days
1 st - 5 th Day	USD30/day	USD60/day
6 th – 10 th Day	USD40/day	USD80/day
Thereafter	USD60/day	USD120/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calend	dar days
1 st - 5 th Day	USD20/day	USD40/day
6 th - 10 th Day	USD35/day	USD80/day
11 th - 15 th Day	USD50/day	USD100/day
Thereafter	USD80/day	USD160/day

SARAWAK MALAYSIA (BINTULU, KUCHING, SIBU, MIRI) SABAH MALAYSIA (KOTA KINABALU, SANDAKAN, TAWAU)

Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Demurrage	20' Dry Container	40' Dry / HC Container
Free time	7 caler	ndar days
1st-3rd days	RM\$25/day	RM\$40/day
4th-7th days	RM\$50/day	RM\$80/day
Thereafter	RM\$75/day	RM\$120/day

Demurrage	20' Ref/Tank Container	40' Ref/Tank Container
Free time	5 calend	lar days
1 st-3rd days	RM\$120/day	RM\$180/day
4th-7th days	RM\$150/day	RM\$210/day
Thereafter	RM\$200/day	RM\$270/day

Demurrage	20' OT/FR Container	40' OT/FR Container
Free time	7 calen	dar days
1st-3rd days	RM\$120/day	RM\$180/day
4th-7th days	RM\$150/day	Rm\$210/day
Thereafter	RM\$200/day	RM\$270day

Detention	20' Dry Container	40' Dry / HC Container
Free time	7 calend	dar days
1st-3rd days	RM\$15/day	RM\$30/day
4th-7th days	RM\$25/day	RM50/day
Thereafter	RM\$45/day	RM\$90/day

Detention	20' Ref/Tank Container	40' Ref/Tank Container
Free time	5 calend	lar days
1st-3rd days	RM\$32/day	RM\$64/day
4th-7th days	RM\$50/day	RM\$100/day
Thereafter	RM\$90/day	RM\$180/day

Detention	20' OT/FR Container	40' OT/FR Container
Free time	7 calendar days	
1st-3rd days	RM\$32/day	RM\$64/day
4th-7th days	RM\$50/day	RM\$100/day
Thereafter	RM\$90/day	RM\$180/day

PENINSULAR MALAYSIA (PORT KLANG, PENANG, PASIR GUDANG, KUANTAN)

Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container loaded for outbound. (departure date included)

Demurrage	20' Dry Container	40' Dry / HC Container
1 st – 7 th day (Incl.Saturday/Sunday/Public Holiday)	F	ree
8 th – 11 th day	MYR25/day	MYR50/day
Thereafter	MYR45/day	MYR90/day

Demurrage	20' Ref/TK/DG	40' Ref/TK/DG
1 st – 5 th day (Incl.Saturday/Sunday/Public Holiday)	F	ree
6 th – 9 th day	MYR50/day	MYR100/day
Thereafter	MYR90/day	MYR180/day

Demurrage	20' OT/FR	40' OT/FR
1 st – 7 th day (Incl.Saturday/Sunday/Public Holiday)	F	ree
8 th – 11 th day	MYR50/day	MYR100/day
Thereafter	MYR90/day	MYR180/day

Detention	20' Dry Container	40' Dry / HC Container
1 st – 7 th day (Incl.Saturday/Sunday/Public Holiday)	F	ree
8 th – 11 th day	MYR25/day	MYR50/day
Thereafter	MYR45/day	MYR90/day

Detention	20' Ref/TK/DG	40' Ref/TK/DG
1 st – 5 th day (Incl.Saturday/Sunday/Public Holiday)	F	ree
6 th – 9 th day	MYR50/day	MYR100/day
Thereafter	MYR90/day	MYR180/day

Detention	20' OT/FR	40' OT/FR
1 st – 7 th day (Incl.Saturday/Sunday/Public Holiday)	F	ree
8 th – 11 th day	MYR50/day	MYR100/day
Thereafter	MYR90/day	MYR180/day

SINGAPORE



Demurrage -- Free time begins from the day of full container in CY (full in CY date included). Demurrage days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Demurrage	20' Dry Container	40' Dry / HC Container
Free time	7 calend	lar days
1st-3rd days	SGD 10/day	SGD 20/day
4th-7th days	SGD 20/day	SGD 40/day
Thereafter	SGD 40/day	SGD 80/day

Demurrage	20' Ref/Tank/OT/FR	40' Ref/Tank/OT/FR
Free time	5 calend	dar days
1 st-3rd days	SGD 30/day	SGD 60/day
4th-7th days	SGD 60/day	SGD 120/day
Thereafter	SGD 100/day	SGD 200/day

Detention	20' Dry Container	40' Dry / HC Container
Free time	7 calenc	lar days
1st-3rd days	SGD 15/day SGD 20/day	
Thereafter	SGD 20/day	SGD 30/day

Detention	20' Ref/Tank/OT/FR	40' Ref/Tank/OT/FR
Free time	5 calend	lar days
1st-3rd days	SGD 60/day	SGD 80/day
Thereafter	SGD 100/day	SGD 120/day

MYANMAR

Detention -- Free time begins from the day of picking container (picking date included). Detention days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Detention	20' Dry Container	40' Dry / HC Container
1 st - 7 th day		Free
8 th - 14 th day	USD4/day	USD8/day
15 th - 21 th day	USD8/day	USD16/day
Thereafter	USD12/day	USD24/day

Detention	20' Ref	40' Ref
1 st - 7 th day	Fr	ee
8 th - 14 th day	USD15/day	USD30/day
Thereafter	USD30/day	USD40/day

Detention	20' OT/FR Container	40' OT/FR Container
1 st - 7 th day	Fr	ee
8 th - 14 th day	USD10/day	USD20/day
Thereafter	USD12/day	USD24/day

*Charge is per container, per calendar day. Saturdays, Sundays and Myanmar holidays shall be included

RUSSIA

Detention -- Free time begins from the day of picking container (picking date included). Detention days should be counted from the next day of free time ending date to the day of full container for outbound cargo (departure date included).

Detention	20' Dry Container	40' Dry / HC Container
1 st - 10 th day		Free
11 th - 20 th day	USD10/day	USD15/day
Thereafter	USD15/day	USD25/day

Detention	20' Ref	40' Ref
1 st - 5 th day		Free
6 th - 12 th day	USD50/day	USD50/day
13 th - 23 th day	USD100/day	USD100/day
Thereafter	USD200/day	USD200/day

Detention	20' OT/FR	40' OT/FR
1 st - 5 th day		Free
6 th - 20 th day	USD45/day	USD70/day
Thereafter	USD55/day	USD80/day

*Charge is per container, per calendar day. Saturdays, Sundays and Russia holidays shall be included

KOLKATA

(EFFECTIVE DATE: OCT 30TH, 2022)

Detention – will be levied when the customer picks up empty until loading laden container on bound for outbound shipment within the free days and is applicable to all containers in the customer's custody till it's returned.

Below tariff is in KOLKATA.

Dry/HC/Tank /Hanger Container

Outbound Cargo	Detention
1 st – 7 th Day	Free of Charge
Thereafter	20USD/20'/Day 40USD/40'/Day

Reefer/Open Top /Flat Rack Container

Outbound Cargo	Detention
1 st – 7 th Day	Free of Charge
Thereafter	40USD/20'/Day 80USD/40'/Day

- a) Days are in calendar day if no exceptions in remark.
- b) CY Cut day is one day before vessel's advertising schedule.

VISAKHAPATNAM

(EFFECTIVE DATE: AUG 30TH, 2023)

Detention – will be levied when the customer picks up empty until loading laden container on bound for outbound shipment within the free days and is applicable to all containers in the customer's custody till it's returned.

Below tariff is in VISAKHAPATNAM.

Dry/HC/Tank /Hanger Container

Outbound Cargo	Detention
1 st – 10 th Day	Free of Charge
Thereafter	20USD/20'/Day 40USD/40'/Day

Reefer/Open Top /Flat Rack Container

Outbound Cargo	Detention
1 st – 10 th Day	Free of Charge
Thereafter	40USD/20'/Day 80USD/40'/Day

- a) Days are in calendar day if no exceptions in remark.
- b) CY Cut day is one day before vessel's advertising schedule.

CHENNAI

(EFFECTIVE DATE: AUG 30TH, 2023)

Detention - will be levied when the customer picks up empty until loading laden container on bound for outbound shipment within the free days and is applicable to all containers in the customer's custody till it's returned.

Below tariff is in CHENNAI.

Dry/HC/Tank /Hanger Container

Outbound Cargo	Detention
1 st – 7 th Day	Free of Charge
Thereafter	20USD/20'/Day 40USD/40'/Day

Reefer/Open Top /Flat Rack Container

Outbound Cargo	Detention
1 st – 7 th Day	Free of Charge
Thereafter	40USD/20'/Day 80USD/40'/Day

- a) Days are in calendar day if no exceptions in remark.b) CY Cut day is one day before vessel's advertising schedule.

Mundra

(EFFECTIVE DATE: July 31TH, 2024)

Detention – will be levied when the customer picks up empty until loading laden container on bound for outbound shipment within the free days and is applicable to all containers in the customer's custody till it's returned.

Below tariff is in Mundra.

Dry/HC/Tank /Hanger Container

Outbound Cargo	Detention
1 st – 10 th Day	Free of Charge
Thereafter	10USD/20'/Day 10USD/40'/Day

Reefer/Open Top /Flat Rack Container

Outbound Cargo	Detention
1 st – 10 th Day	Free of Charge
Thereafter	10USD/20'/Day 10USD/40'/Day

- a) Days are in calendar day if no exceptions in remark.
- b) CY Cut day is one day before vessel's advertising schedule.

NHAVA SHEVA

(EFFECTIVE DATE: July 31TH, 2024)

Detention – will be levied when the customer picks up empty until loading laden container on bound for outbound shipment within the free days and is applicable to all containers in the customer's custody till it's returned.

Below tariff is in NHAVA SHEVA.

Dry/HC/Tank /Hanger Container

Outbound Cargo	Detention
1 st – 7 th Day	Free of Charge
Thereafter	10USD/20'/Day 10USD/40'/Day

Reefer/Open Top /Flat Rack Container

Outbound Cargo	Detention
1 st – 7 th Day	Free of Charge
Thereafter	10USD/20'/Day 10USD/40'/Day

Remark for DET on outbound cargo:

c) Days are in calendar day if no exceptions in remark.

d) CY Cut day is one day before vessel's advertising schedule.

